MAIIRCY

DELUXE
SMITH MACHINE

MD-5191

4 y )\ 7 Al
R22Rs55555cs g n o w.mmmw.wwmw R by
- R 4lllllll‘fﬂ“““ﬁﬂ
\\.ﬁ'u\
J // 7‘@.@%
\

X

) ’b»w NS g 11y
74

"

IMPORTANT: Please read the Important Safety Notice and Assembly Information

in the Owner’s manual before assembling this product.

Assembly Manual

180418




WWW.marcypro.com

©IMPEX INC.



OIMPEX INC. 2 WWW.marcypro.com




@X1 @x1
bo- o
@XZ ><2 x6 x

@2

x1o

67 x 15

@) x 8

©IMPEX INC. 3

WWW.marcypro.com




)

—
W
8 x 2
64 x 2
( x22
@~ 4
@ 2
x14
Mmm
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
|||||||||‘|||||||||‘|||||||||‘|||||||||‘m||||||‘|||||||||‘|||||||||‘|||||||||‘|||||||||‘|||||m|‘|||||||||‘|||||||||‘|||||||||‘|n|||m ||||||||| i
|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘|||||||‘||||||||||||||‘||
O 1// 8// 3// 4// 5// \

©IMPEX INC.

WWW.marcypro.com




®

@ 4
©) x 10
©3 3
fod x 99
. © |
@) 6
mm
01 2 3 4 S 6 7 8 9 10 11 12 13 14 15
D 1// 8/[ 3// 4// 5// 6//
OIMPEX INC. WWW.marcypro.com




®
®

69 x 2 @9 x 4 1

(HP [

I I 5#x1

: | 62 @ =

mm
0123456789101118131415D

O'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|' '|'|'|"'|\

1 4 8 4 3 " 4 4 5 4

OIMPEX INC. 6 WWW.marcypro.com




(m— <4 MI0x2y
© | x A4 @7’
8 x 4 M10

OIMPEX INC. 7 WWW.marcypro.com




M10x23
M10x23"
3
4

12
6

— ©
© w

—

® ® S @

www.marcypro.com

©IMPEX INC.



M10x23"

4

1“

2

M10x2
M10x22"

H © x5 M0

1
1

09

WWW.marcypro.com

©IMPEX INC.



® @ & @ ®

©IMPEX INC.

10

WWW.marcypro.com




R ® ®®
;/’,J - A
@ Va @ J% i!@%/’/»&ﬂ\@ w
.\_ @
. a , \ \
\\\l

x 4 M8
x 2 M10

. o0 o0
mico =
R
S ;) -
= M@@
N <
XXQ.uv%'.A.Ew_oo

&

Y
X

S NN,
@® e ®

WWW.marcypro.com

11

©IMPEX INC.



M10x3"

4

¢%"

WWW.marcypro.com

12

©IMPEX INC.



M12x5"

2

6 (—mmm < 2 m10x2}

x2 M10x3"

L

<)

x2 M6x3"

(-
©
©

&

x 2 M12
x 2 M10

@ g
© B

om@4

x4 ¢1"

x 4

|
|

® @

WWW.marcypro.com

13

©IMPEX INC.



M10x3"

1

M10x2"

2

x12  Og"
x2 M8

2
M10xp13" © |
E o

WWW.marcypro.com

14

©IMPEX INC.



M10x13"

3

(o

M10

WWW.marcypro.com

15

©IMPEX INC.



x6 M10

M10x3
M10%23"
M10x13"
M10x1

) B ©Q

1
2
2
1

x12 ©F

I B

®® & &

WWW.marcypro.com

16

©IMPEX INC.



M8x 21"

x2

(

cbg"

ﬂ

([ <2 m10x013" ©

x4 O

H

) ©

M10

x 2

B

WWW.marcypro.com

17

©IMPEX INC.



©IMPEX INC. 18 WWW.marcypro.com



4

©IMPEX INC. 19 WWW.marcypro.com



©IMPEX INC. 20 WWW.marcypro.com




©IMPEX INC. 21 WWW.marcypro.com




) x 2

G7) x 2 @4 x 6

0123456789101112131415b

O'I'I'I"'I'|'|"'I'I'I"'I'I'I"'I'I'I"'I'I'I"'I'I'I"'|'|'I"'I'I'I"'I'I'I"'I'I'I' '|'|'|"'|\

1 ” 2 ” 3 ” 4 ” 5 ”

©IMPEX INC. 22 WWW.marcypro.com




QB x 12

I L ..

] 5#x1

I ] 6#x2

mi

o1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 i)

0'|'|'|'\'|'|'|"'|'|'|'\'|'|'|"'|'|'|'\'|'|'|'"Mw|'|'|"'|'|'|'\'|'|'|"'|'|'|' '|'|'|"'|\

1 ” 2 ” 3 ” 4 ” 5 ”

©IMPEX INC. 23 WWW.marcypro.com




(35 [ M > M10x33"
[ NI x 2 M10x23"

@0 [ « 201 @ B O «3 wmo

©IMPEX INC. 24 WWW.marcypro.com




©IMPEX INC. 25 WWW.marcypro.com




M12x6%"
M10%6"

1

—/

® &

M12
M10

x 1
x 1

2
x 2

© ©
P ®

WWW.marcypro.com

26

©IMPEX INC.



M12x63"

1

M12x33"

@levnz

1

1"

x4

www.marcypro.com

27

©IMPEX INC.



® ® ® QO

©IMPEX INC. 28 WWW.marcypro.com




M8x 13"

4

www.marcypro.com

29

©IMPEX INC.



©IMPEX INC. 30 WWW.marcypro.com




IMPEX® INC.
2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
WWW.marcypro.com
support@impex-fitness.com

©IMPEX INC.

31

WWW.marcypro.com



http://www.impex-fitness.com/



